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Kotter’s 8 step Change Model
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Kotter’s 8 Steps for Change Management

Implementing &
sustaining for 8. Make it stick
change
7. Build on the change
Engagmg & 6. Create quick wins
enabling the
organisation .
5. Empower action
) 4. Communicate the vision
Creating the
climate for .
3. Create a vision for change
change
2. Form a powerful coalition
1' Create urgency Adapted from Dr John Kotter’s 8 Step Process for leading change
http.//www.kotterinternational.com/our-principles/changesteps/changesteps
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